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First Semester B.Com./BBA/BTA Degree Examinations
JANUARY/FEBRUARY 2023
(CBCS NEP Scheme)
ENGLISH LANGUAGE
(2021 - 22 Syllabus)

PAPER - I: NCA/NMA/NTA 0080: AMBITIONS AND COURSE BOOK
[PRACTISING LANGUAGE]

Time: 2 hrs] [Mcix, Marlks: 60
Instructions:

1) The students should legibly write section nuniber along with question numbers.
2) The answers without section number and gitestion nur:bers will irot be valied.
3) The question numbers should be legibly written within the margin only.

4) Do not repeat the answers.

5) I case of repetition, only the first answer will be considered for awarding maiks.

6) Answer to one mark questions should not e..ceed one sentence.

SECTION -1

I Read each sentence carefully and fill in the blanks witi: the most appropriate answer
from the options given: 10x ] =10

j- 1) Synonym of “adamant”is _

a) prevent b) admit c) obstinate d) augment
|- 2) Antonym of “fragile”1s

a) strong b) scatter c) frugal d) weak
[ - 3) The suitable prefix of the word “frost”1s

a) dis b) un__ c) de d) a
| - 4) The suitable suffix of the word “persist”1s

a) _ente b)  ante c) _ ant d) ent

- 5) A fricnd of the writer usually ~not eat anything for luncheon.
a) do b) does c¢) did d) none of these

Contd.......... 2
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L~ 0) The traffic police ~ singly managing the traffic.
a) are b) is c) were d) am
L~ 7) Thelittle girl a mother and no one else.

a) had b) hadbeen c¢) have d) have been

I'- 8) The poem “Seven Ages of Man” twenty eight lines.
a) hasbeen b) have «c¢) has d) noncof thesc

[-9) Neither the consumer nor the seller __ the quality of the product in the marke,
today.

a) know b) knows c¢) known d) all of these
- 10)  Everybody the game of football these days.

a) appreciated b) appreciate c) appreciates d) nonc to these

SECTION - II (PROSE)

I1. Write short notes on any FIVE of the following in a paragraph each: 5x3 15

II- 1) The little girl in “Not Just Oranges”

II-2) The Malachov couple

II - 3) Describe the appearance of the woman of forty in “The Luncheon”
II-4) List out the menu discussed in the story “The Luncheon”

II-5) The opinion of thinkers in “If War is to End” |

[I- 6) The ending of the story “If War is to End”

[I- 7) Jesse Owens

II- &) Berlin Olympic Games
SECTION - III (POETRY)

IIl. Answer any THREE questions from the Jollowing (ONE from annotations, TWO from
questions): IxS5 15
[II'- 1) Annotate the following: ‘
Haven’t I always reported the truth?

Now here you are, treating me like a liar!

[II - 2) Annotate the following:
All the world’s a stage,
And all the men and women merely players;

Contd............ 3
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[11 - 3) How does William B]

Page No... 3
ake portray the plight of the chimney sweepers? Fixplain,
111 - 4) Briefly explain the seven

ages of man as explained by Shakespeare.

lI-5) How does Frost justify the dilemma of choice in the poem “The Road Not Taken?”

SECTION - IV

IV. Answer the following: 10 Marks
[V - 1) Briefly narrate the story “The Luncheon”.
OR
Rewrite as directed:
1) Robert Frost had seen difficult times in his childhood.

(Change into simple past tense)

11) The happiness lived short.
(Change into present perfect tense)

iii) The old lady gave her such a look.
(Change into simple present tense)

1v) My heart sank a little.
(Change into past perfect tense)

v) Itried with all my might to say no.
(Change into present perfect continuous tense)

vi) She smiled at me with a bright flash of white teeth.
(Change into past continuous tense)

vil) He scratched away at his dry eczema
(Change into present continuous tense)

viii) [ leaped from several inches beyond the take off board.
(Change into past perfect continuous tense)

ix) Ayyo, people have thought for a long time.
(Change into simple present tense)

x) He spoke with a grating sound.
(Change into present perfect tense)
IV -2)  Read the following passage and answer the questions set on it.

Booker T. Washington was a celebrity even during his time. While Abraham Lincoln
liberated the slaves, Booker lived to become a leader of his race.

Booker T. Washington was born a slave on a plantation ncar Virginia and was
brought up in an old shack. He had slept on a bundle of rags, cating nothing most of

Contd............ 4
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the days. The molasses he received on his tin plate occasionally was a luxury he
enjoyed. He used to tilt his plate to spread the molasscs so that he could get the fecling
that he had a plateful of food.

One fine morning Booker heard that Lincoln had signed a declaration sctting all
slaves free. Soon after this, Booker’s family moved to Malden to work in the salt
mines. Seeing his keen interest in learning, his step father allowed him to attend
school. But Booker left school within a few years because of pressing conditions at
home. He worked for a year as a houseboy. He learnt cleanliness, thrilt, orderliness
and above all, dignity of labour. However, he could not brush aside his other burning
desire — to go to school. On hearing of the Hampton Institutc at the salt mine, he
decided to go there. At the age of 14, he walked all 500 miles to the school. When he
reached there, he looked more a tramp than an applicant for the school and so the
headmistress showed no interest in admitting him. But, Booker pleased her with his

work and got admission.

After graduation, he took charge of a school in Tuskcjee, Alabama. ilc started his
school with 30 students. He taught them community service and incorporated it in the
curriculum. He introduced the three ‘Hs’ - education of the Ilcad. the Heart and the
Hand. His scheme worked out well. He continued to serve the cause of education till
his death in 1915. On his death, wrote his friend Andrew Carncgie, ‘History will tell of
two Washingtons — the white and the black — one the father of his country, the other
leader of his race”.

a) Answer the following question in a word or a phrase or a sentence as required.
6x1=06
i) Where was Booker T. Washington born?
ii) Why did Booker’s family move to Malden?
iii) Which qualities did Booker learn as a houseboy”
iv) What was the burning desire of Booker T. Washington?
v) Why didn’t the headmistress show interest in admitting Booker o school?

vi) Which are the three ‘H’s that Booker introduced in his school?

b) Answer the following questions in two or three sentences. 2 x 2 =04
i) Why did Booker use to tilt his plate?
i) What did Booker’s friend say when Booker died?

K ok ok ok ok kX
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First Semester B.A/ B.Com / BBA / BSW Degree
Examinations
January / February 2023
(CBCS / NEP Scheme)
Paper : SEC (Skill based) Digital Fluency [Model - 2]
Time: 1 hr.] [Max.Marks:25

Instructions to Students :

1. The students should legibly write Section number along with question numbers.

2. The answers without Section number and question numbers will not be valued.

3. The question numbers should be legibly written within the margin only.
QWRFNPR BRWING :

1. Q02RO HI, oDy DgIon Toy00:0, A ,c¥,i39/ L)00beleds
2. DN FoLJs X, I, Fonee., NG, ONMYN, P50 3CMIAC...
3. DI, RN, AyHyidoN TReSFIT JE., &3 Ldovess

SECTION -1

1. Select the most appropriate answer from options provided : 5X I=5 Marks
WONAT S00N00T AT, T8 903, 0T, 80,z0R

I-1)To access the services of the operating system, the interface is provided
by the

a) Library b) System calls ¢) Assembly instructions  d) API

STTEIONT A%Kyy0F REWNTYR0, VHODLY RNT  WEIPEFT® B8R, WHEARIRIT

a) ThHoGROOHNE b) 2%.,T0° S

C) ROV, ARWING d) Q& neh

[-2)What is the full form of DOS ?
a) Disk Operating System b) Data Operating System
c) Disk Operating Store d) None of'the above
TR’ & TYRLIF DT 03RRYT0 ?
a) QY STSRIONT A, 3 b) Tetz> esTBet3on® AiF, 00
c) BRY, BTTeLIoN® Ay, c0° d) BoedT YT R YO,

[-3)A device that isused toconnect a number of [LANs is

a) Router b) Repeater  ¢) Bridge d) All of these
TOWTY LAN N¥R, RoTWBFRLY WHRR FFS

a) OwLio® b) ITTTIFE ) FeBoW  d) WWOLFP
Contd.. .4
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I-4)Tables with rows and columns can be viewed as
a) Analytical Models b) Relational Models
¢) Composite Models d) Database Modcls
TOMEH B), TV NER, Tve0RTRS BR0H, BTTo,
QERIWIW,

a) BEOFST b) OSeRIT
¢) TIOTPEAES® d) Betzorden® SIRTOTIH

03

I-5)Digital footprints are stored
a) Temporarily (for few days) b) Permanently
¢) For 7 days only d) For 3 days only
QRLICT B, MTIBNER0, | 9QOIT olgfto S oplaicNal

a) 23, O8TN (30xy OINEHTA)  b) ToJz3waN.
¢) 7 AINTRIBTR IR, d)3 DINTZTR XY,

SECTION - 11

II.  Answer any TWO Questions from the following : 2X 5= 10 Marks
FENT OSNRYTITWOR RTW )3, e ¥v8,0A.

[I-1) Explain the major functions of operating system.
EITTEEIONT AT 0 & TIND FIORFNTI0, R0A,
II-2) Explain different types of networks.
DOG D30T I T, FIR, QRO
1I-3) What are the benefits of e- learning platforms ?
Q — OQFONE T3 PoeFNY )OS ReINTIYy) ?
[I-4) Write a note on €— waste.
% — Bl W, WO E3T,68 WTBOWO,

SECTION - III

III.  Answer any ONE question from the following.
FONT 03PRYTITOR Wwotdy &3 1N YOZ,0R, 01X 10= 10 Marks
[11-1) Explain the following :
i) Menus in word processor (any three)
ii) Spread Sheet’s advantages.
BINTRYNTI0,  DZOA,
i) WEF TRy eRR0° IO.,00F  OINRYWITTR TRTY IR
i) BT bets” & evmodeenmieh
I11-2) Explain different types of malwares.
cubuty Ded0dH WRO® BT’ MYy, HIOA,
11-3) Explain how you create and publish questionnaires on Gooele forms.
Qezy Mene® owlr NYd,, &2 IVRS, Ier JWR3,e0 :n:v:g &)Be3RV3,¢0

- -
QJOZ\))GNJM DA,
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Q.P. Code No0.10961
First Semester B.A/B.Sc.,/ B.Com / B.C.A. / BBA / BSW

Degree Examinations
January / February 2023
(CBCS / NEP Scheme)

Paper : SEC (Skill based) Digital Fluency [Model - 1]
[Max.Marlks:25

Time: 1 hr.)

Instructions to Students :
1. The students should legibly write Section number along with question numbers.

2. The answers without Section number and question numbers will not he valued.
3. The question numbers should be legibly written within the margin only.
QTOFNOT BRWIAK

. QD QFTTE0 I, ROV /TR0 DgIor Fol 00, A, )i, 39/ LI0Xeleda
2. RN By S, I, FoNCO., D IO, SR eFOTCANTIFIAC..
3. DI, RN, A& I0N e ., eI eodobelesa

SECTION -1

I.  Select the most appropriate answer from options provided : 5X 1= 35 Marks
WONAT B00MP0T B, w08 YV, TRw,, 00478

I-1) Which of following is a type of cyber-attack?
a) Phishing ~ b) SQL Injections ¢) Password Attack  d) All of the above

FENTTIVS,, CIRTT F,200° TOPOD 205 AFTINT
a) dom® b) SQL “028g 3¢

C) TR EEF o9 d) B0e03 Q)

[-2) Which of the following is a type of cloud computing service”

a) Service-as-a-Software (SaaS) b) Software-and-a-Server (SaaS)

¢) Softwarc-as-a-Service (SaaS) d) Software-as-a-Server (SaaS)
FINTYNE,., OIYD TG F0T;L0N® Zes30% 2FITTING 2

a) Hezd 2,003 Ao, @3¢0° (SaaS) b) ToFs, BeTT B, w - ATFT® (FFT)
C) RogTs, wel® - ¥R & Xewd (SaaS) d) Ao, 60T WAT- @ - FWFOT (Saal)
I-3) Face book, Instagram and twitter are the examples of

a) Web sites b) search engines

¢) Social media sites d) all the above

Face book, Instagram @@y, (witter QYAY 030RHTIT YVTTOTTHBATING .
a) T AT N h) Re3'F 0WRT 1§

C) AW WIS Ayt ek d) B0edT LT

Cond...
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[-4) Class room teaching is ~__ communication,
a) unidirectional b) Bidirectional ¢) not d) nonc of these
Ion3oh eI Kom®ImNG.

a) RFIND b) Q4=N0 C) B, d) YN, CIRPITH BO,,
[-5) What is the full form of [IOT?

a) Index Internet of Things b) Incorporate Internet of” hings

¢) Industrial Internet of Things d) Intensc Internet of Things

[IOT & TYREIF BwE 03TORYTI0 ?

a) ROWFE, OLIVFESE ST Pone, b) T FOTPFTeLI Q0LIVFEI S57° Hone,
C) R0TBA 00V OLNFEF IP° Pory, d) 0EINT, "OLIJFEIT &3P oNT,

SECTION - 11
II.  Answer any TWO Questions from the following. 2X 5= 10 Marks

ZONT OINPTIWOR AT I3, Nen Lvg,0R.
[I-1) Explain the examples of Artificial Intelligence.

F,88 WDLENZ,00 YVTOTTWNYR), DTOA,
II-2) What are the applications of Big data? Explain

WN® BeERT B.,FeB° NS0 03RTYY ? D=0,
II-3) Explain any five Common Types of Cyber Attacks.

0309YTIe T ToeSIORTs De80H A W WINFR, QWA
[1-4) Explain the tools in enhancing the skills.

FOBONT, BRE FINTI,, DA,

SECTION - III

III. Answer any ONE question from the following.
UNT OINRTITWOR woD F3,. R 0,04, 01X 10= 10 Marks

I1I-1) a) Compare IOT and II1OT.
IOT @03, [I0T Bweedd &SHa.
b) What are the applications of 10T ?
[OT 0 &, Fem® N 03597y ? 5+5
11I-2) a) Explain the applications of Artificial Intelligence. '
8,38 WRLII,00 VL., TR NS, DTOA.

b) Differentiate AI and ML.
Al @3y, ML 30535 00 B5805AMTT0,, 39K, 545
[1I-3)  Expain how to improve your Communication Skills ? 10

AT, ROWHS  TOBONEI0, Tert ROPIORITYT 7 WO,

kk k ok ok ckk
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First Semester B.A./B.Sc. Degree Examination

January / February 2023
(CBCS - NEP Scheme)
PSYCHOLOGY

PAPER - OEA - 5160 : PSYCHOLOGY OF HEALTH AND WELLBEING

Time : 2 Hours Max. Marks: 60

Instructions to Students:

1. The students should legibly write section number along with question numbers.
2. The answers without section number and question numbers will not be valued.
3. The question numbers should be legibly written within the margin only.

I-2.

I-3.

-4,

SECTION - I aemn - 1

Select the most appropriate answer from the options provided: 10x1=10
LEANT olynvon Fuh 1egmer Ko web, SRa.

. Healthiis related to mind, body and spirit. This statement is true of which model of health?

(@) Holistic Model (b) Biological Model
(c) Social Model (d) Medical Model
ed@er@ DTRY, Be® TR 38, F0WORDAT. B BeYBD tsdxaeﬁbci 030 BRTOR dTTNS?
() =2dR, IO () BT IO

(2) TP IPTO (&) dédbéeoiv TTO
According the WHO, Health is not merely the absence of

(a) Sadness (b) Wellbeing

(c) Disease (d) Medicines

WHO 5500, 9deens esse VBHSODY

(2) =D (2) oSeertgesd

() Been () BIoned

A positive form of stress is

(a) Distress (b) Conflict

(c) Wellbeing (d) Eustress

L.2B0 AT00ET CATHOTT

() I3 (R) BopRE

(2) cEaerigess (@) ooz

Anxiety attacks are symptoms of stage of stress.

(a) Alarm Stage (b) Exhaustion Stage
(c) Resistance Stage (d) Building Stage
&Z08T VN LIWT TOIT O FarTINTIIR,.

(o) 2gddodh o2 () I3 To3

(2) &&Bpeg @03 (B) ATPET T3



I-7.

I-8.

QP CODE: 19014

. Over use of Video games, compulsive gambling and chatting are examples of.

(b) Emotional problems

(a) Internet addiction
(d) Physical health hazards

(c) Positive entertainment

QRUERE AR BTN LEE, LD 2363 @Y PN QYN YOIRTTHBAgy,
(2) wosimre JEIT () ERTPIF TAY

(R) 38 DIpeTOWHOD () T8 STRENT BTORNE

. The concept of Health continuum was proposed by

(@) John W. Travis (b) Sigmund Freud

(c) World Health Organisation (d) Indian Medical Association
sdmrg N00ZTZ03 TOFLRONY B, DRATITTI .

() 05° B o tRAT® () Arom® 037,

(2) 23, ¥dren ZoF (B) oo T 5e03 B0
'lllness management and recovery is used :

(a) as a guideline for social workers (b) as a guide tool for doctors
(c) as a support for care givers (d) asaselfmanagementmodule for patients
YTOTRENT ATFBTH 30 3e300HT WERZYT.

(2) PRPBB FORNFIIED (20) STOR ereEde HFIN
(2) =383 deRTRON Worywemn (&) BeeNnor 5,030 A BB
is Health Enhancing Behavior.

(a) Exercise (b) Relaxation

(c) Yoga (d) All of the above

STREN [, BYROT B S303NTS :

() TP (22) Qz,08

(2) cdrent (@) Bed3T 0P

Which of the following is a source of stress?

(@) Financial problems (b) Work related problems

(c) Health problems (d) All of the above
FLNTHNTE) KRR WIRT BPOTINT?

(2) om0 ARAN (%) 30RE,ROWORIT FRAR
(%) eBer IRAMD () eI TP

[-10. Which of the following is a health compromising behavior?

(a) Smoking (b) Drug abuse

(c) Alcoholism (d) All of the above
FoNToyne ) CIRTT STRETTITY, 36870 IZEIBPAS?

(&) pRET () SIPFE IZ

(%) 0z (R) eI Q0P




SECTION - I1 &er - 11

I1 Answer any FIVE of the following.

11-1.

11-2.

I1-6.

I1-7.

II-1.

I1-2.

I11-3.

I11-4.

[11-5.

8UAR CIRYTHTSL D FFROR PwIDL.

What is stress? What are the types of Stress?
L33 Q0TTED? LIBE QRN 1B0N0?

Write a note on the Health continuum.
STRer| AC0ITZeD L1t €35368 2oBowD.

Discuss holistic health model.

AT, STREr IPTODRY, 28 .

Write a note on health and wellbeing.
SO.er, S 030ergeadzs 2urf £330 B000.

Write five benefits of yoga.
03RENTS 20T uBOSREnTisy BOWD.

What is illness management?
BIoBREN, AT B D0TTER?

How do we maximize unrealized strengths?
VOBBRYT MIFF YR, Towy Bert BLRWIE0?

. What is optimism? Write the importance of optimism in health.

QP CODE: 19016

5x3=15

BTOTT SRR H0TTERD? SBRENTY BTVTRT SIJLLPIT B[, WI0WO.

SECTION - ITI &n - 111

Answer any THREE of the following questions.
ESNT SRRYTRRTH S8 TIROR L0IZo2.

Write a note on stress management.
W3R ABEBHOD B0 363 WTOWD.

Discuss health compromising behaviour.
SBRET THOR FIPRET BB SONT) DTOR.

Write a short note on the nutrition and health.
a?aagﬁé VTS edmr;}aﬁag B0 £35363 2BOWD.

Discuss the strategies of increasing optimism.
T TVRHELTDTHY, BT B0 NI 3 A

Write a note on overcoming weakness.
TPWF 00T BHTWTIE B0ZNTR) NIOA.

3x5=15
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SECTION - 1V &won -1V

IV. Answer the following. 2x10=20

8RRy Lo3o8.

IV-1. Explain Social and personal mediators of stress.
LIRT TRIDBE 1) F,0388 G FSENTI) DZOA.
OR /g

What is Health? Discuss the important models of Health.
SBTREN, QOTTeR? SBRENT TT0D FHEONTY, WUF A.

IV-2. Elaborate on health enhancing behavior.
STRENTI), BURORN B SN DTOR.

OR / u@w»

Elaborate on human strengths and weaknesses.
TRTT TFE [0 FIWEONRTRY DTOA.
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First Semester B.Com. Degree Examination

January / February 2023
(CBCS NEP Scheme)
COMMERCE
PAPER : DSC - 1.1 (NCA 0210) : FINANCIAL ACCOUNTING

Time : 2 Hours Max. Marks: 60

Instructions to Students:

1.

The students should legibly write section number along with question numbers.

2. The answers without section number and question numbers will not be valued.
3. The question numbers should be legibly written within the margin only.

I-1.

I-2.

I-4.

I-5.

[-6.

SECTION - I

Select the most appropriate answer from the following options provided: ONE
mark each. 10x1=10

Direct Expenses are entered in :
(@) Trading Accounting (b) Profit and Loss Accounting
(c) Balance Sheet (d) None of the above

Drawing is deducted from:
(a) Sales (b) Purchases (c) Returns outwards (d) Capital

Account Sales is submitted by:
(@) Consignor (b) Consignee
(c) Principal to his agent (d) Debtor to creditor

The objective of fixing Minimum Rent is:

(@) Landlord should not get more than certain amount per year.

(b) Lessee should not pay more than the amount of dead rent.

(c) Land Lord must receive a minimum amount in case of Low out put
(d) None of the above.

A firm purchased goods of Rs. 90,000 and spent Rs. 6000 on freight. At the end of the
year cost of goods still unsold was Rs. 12000. Sales during the year Rs. 1,20,000. What
is the Gross Profit earned by the firm?

(a) 36000 (b) 18000 (c) 42000 (d) 38000

The consignee is entitled to a 10% of ordinary and a 5% del credere commission. If cash
sales are Rs. 50,000 and credit sales are Rs. 25000, Total Commission would be:
(a) Rs. 8750 (b) Rs. 6250 (c) Rs. 7500 (d) Rs. 11250
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I-7. Ifthe value of Furniture is Rs. 225000 and the rate of depreciation is 8% p.a. how much

is the annual depreciation.
(@) Rs.1,80,000 (b) Rs. 18,000 (c) 80,000 (d) 8,000

I-8. Goods of the Invoice price of Rs. 2,40,000 sent to consignee at 20% profit on cost, the

loading amount will be:
(@) Rs. 40,000 (b) Rs.48,000  (c) 50,000 (d) 45,000

I-9. Purchase of Raw Materials Rs. 48,000. Closing Stock is Rs. 5,000, opening stock of
Raw materials is Rs. 7,000. What is Raw Material Consumed?
(@) Rs. 50,000 (b) Rs. 5,000 (c) Rs. 48,000 (d) Noneofthe above

I-10. Mr. Srikanth consigned goods of Rs. 50,000 to Mahesh and pays Rs. 5000 for expenses,
goods worth Rs. 10,000 was burnt in transit and the insurance company accepted a
claim Rs. 7,500, then net abnormal loss is.

(@) Rs. 2,500 (b) Rs.10,00,000 (c) Rs. 3,500 (d) Rs. 500
SECTION - II
II.  Answer any FIVE of the following. THREE marks each 5x3=15

II-1. What are the benefits of digital transformation?
II-2. Write a note on Proforma Invoice.
II-3. Write a note on Money measurement concept.

II-4. Mrs. Ananya sent goods on consignment worth Rs. 1,50,000 to Mrs. Kavitha. She sold
some goods for Rs. 1,00,000 on cash basis and remaining goods for Rs. 75,000 on
credit basis. As per the terms of the contract she is entitled for an ordinary commission
at 7.5%. Compute the amount of Commission.

[1-5. From the following calculate the value of consignment stock. Mr. A sent 100 articles at
cost Rs. 500 each to Mr. B. Mr. A paid fright and insurance Rs. 3000 and Mr. B paid
Rs. 1000 as rent of building. Mr. B. sold 90 articles at Rs. 1,000 per article and incurred
expenses of Rs. 500 as selling expenses.

lI-6. Prepare an Analytical (Royalty) Table from the following details. Royalty payable Rs.
0.50 per ton of output: Minimum Rent Rs. 7500 per annum : Right of recoupment of
shortworkings upto 3 years; output during the first 3 years 10,000, 14000, 18000 tons
respectively.

[1-7. From the following balances. Find out the Gross Profit of the company by using vertical
format stock at the beginning, Rs. 20,000, stock at the end Rs. 21,000, sales Rs. 90,000,
wages Rs. 5,000, purchases Rs. 60,000.

[I-8. Mr. Rajath's Trail Balance Shows Rs. 1,35,000 sundry debtors. Calculate the value of

good debtors, after adjusting the following Bad debts Rs. 5000, provision for bad debts
at 5% on debtors and 1% discount on debtors.

2
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SECTION - 111

Answer any THREE questions from the following. FIVE marks each. 3x5=15

I11.
I1I-1. Who are the users of Accounting Information?
[1I-2. Explain the advantages of Cloud Computing?

I11-3. From the following details prepare an Account Sales :
Consignor - Anagha cycles Ltd., Chennai.

Consignee - Sri Laxman Cycles, Bangalore
Consignment - Consignee sold 50 cycles at Rs. 1,400 each, 20 cycles at Rs. 1500
each. consignee's expenses : Freight & cartage Rs. 5000, Godown Rent Rs. 2000,

other expenses Rs. 1000. Consignees's commission at 10%.

Mr. Prashanth runs a factory which produces caps. Following are the details available
in respect of his manufacturing activities for the year ended on 31.3.2020.

Opening working progress Rs. 8000, closing work-in-progress Rs. 10,000, opening stock
of Raw Materials Rs. 75,000, closing stock of Raw materials Rs. 85,000, purchase of
Raw materials Rs. 4,20,000. Rent of a factory Rs. 1,50,000, Direct wages Rs, 1,83,500,
Prepare Manufacturing Account of Mr. Prashanth for the year ended 31.3.2020.

Mr. Jayanth Madhurai consigned 74 Boxes of goods of Rs. 100 per box to Jagadesh
Karvar on 1/4/2019. 25% commission is allowed on sales. Mr. Jayanth incurred the
following expenses in connection with the consignment: (a) Freight charges Rs. 3500,
(b) Insurance charges Rs. 1200. The consignee spent Rs. 200 carriage and Rs. 700
for unloading of goods. Mr. Jagadeesh sold 30 boxes at Rs. 120 per box, 24 boxes at
Rs. 125 per box and 20 boxes at Rs. 130 per box. Prepare a consignment Account in

the books of Mr. Jayanth (consignor).
SECTION - IV

I11-4.

I1I-5.

IV. Answer the following. TEN marks each 2x10=20

IV-1. What is Accounting? Explain the types of Accounting conventions.
OR

From the following Trial Balance of Sri Madan, Prepare Trading and Profit and Loss
Account for the year ended 31.3.2021 and Balance Sheet as on that date. (under vertical

format)

' Particulars Debit Credit
Capital - 20,000
Drawings 5000 -
Machinery 20,000 -
Furniture 5,000 -
Debtors 16,000 -
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”Cirédiit‘or;'svwwm ] ' - 35000
Insurance 3000 -
Salaries 5,000 -
Land and Buildings 15,000 -
’ Stock on 1-4-2020 7,000 -
. Purchases 30,000 -
| Sales . 50000
| Discount Received - 1000
Rent 2,000 -
' Bills payable - 5000
) Cash in hand 5000 -
L Bank overdraft - 2000
f 1,13,000 1,13,000
Adjustments:

a) Closing Stock Rs. 8,000

b) Insurance prepaid R. 500

c) Rentout standing Rs. 1000

d) Reserve for doubtful debts at 5% on debtors
e) Depreciate Land and Building at 10%.

. What is Consignment? Explain the differences between Consignment and Sales?
OR

The Sahyadri Minerals acquired a lease from a landlord for the purpose of extracting
ore. It was agreed that the company should pay Rs. 2 per ton of ore. raised subject to
a minimum rent of Rs. 4000 a year and that the short workings could be recouped in
the first 3 years of the lease. The ore raised for the first four years was: | year - 1000
tons, Il year 2500 tons, Il years - 3000 tons and IV year - 5000 tons. Journalise the
transactions in the books of Sahyadri Minerals.
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2.
3.

[-1.

I-2.

I-3.

The students should legibly write section number along with question numbers.
The answers without section number and question numbers will not be valued.
The question numbers should be legibly written within the margin only.

SECTION - I &wn - 1

Select the most appropriate answer from the options provided: ONE mark each.

Bt TR wodnvon By Bgmn LOITRRY, ol RR6. I wowd Wos. 10x1=10
Management is

(@) Anart (b) A Science

(c) Both art and science (d) None of the above

UNE TR 0TT

() womd 863 () 2,003 e

(2) 3SR T 20AER (B) 3eds CSRYTH ¥
Which of the following is not a Management Principle?

(a) Order (b) Discipline

(c) Equity (d) Cooperation

EENTYNYD BRI ASF B IZHY?

() =tiez (@) &=y

(2) cagps (&) xB5T

Which of the following is not among the levels of management?

(a) Top level management (b) Intermediate Level

(c) Middle level management (d) Lower level management
BINZHYNe CIRTYT ATFBHBOD BoNGHL)?

(2) 252 s vuros () R5030 Joky,

(2) =ge w0 AR B (&) 8¢ 033 AR T
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I-4. Unity of command implies.

[-6.

I-7.

I-8.

[-9.

(@) A subordinate should receive orders from all the superiors
(b) Individuals must sacrifice in the larger interest

(c) Be accountable to one and only one superior

(d) None of these

Sodd NI VT BRWRIT.

(2) BRI HRTO®N DT FHOREONTOT STeBRIY %80T8,
(22) SBrieh T3S SN T SBLIesd

(2) e W) BoeopsdR abutinlelepigle

(2) 30T SPFTH )

Planning process begin with:

(@) Selecting alternatives (b) Identifying alternatives

(c) Developing planning premise (d) Setting objectives
03ReTD &,8,00030 TBRORN T,80RB:

(2) BPrdRERY BORF)T () BedwE NPy MR

(2) Seezmm &5369@3@@2@%@5@&@&3 (&) rHONR) BROOREIYT

Planning is process.
(@) Thinking (b) Controlling

(c) Directing (d) Order

o3eezsN0o3 &,8,03003N 33

() 8033 (20) 2020

() ABer33 () 83

Which among the following is not a type or forms of organisation?
(a) Formal organisation (b) Project organisation
(c) Committee organisation (d) Line organisation

& BINTZNYE BPIYTD B0F0H BFoT ) ZTATRY?

(2) Bwds z03 (V) BRemSod oS
(2) =& 0P (8) S° Rope3

Line organisation is also called as.

(a) Military organisation (b) Functional organisation
(c) Line and Staff organisation (d) Project organisation
&,7° HOFIORTY, SN0 BTODSMIT.

(@) ode3d o (D) 80303F B0FE3S

(2) Sz 33 A0 BOFE (8) 08eemR03 B0eIsd
Effective control depends on

(a) Organisation structure (b) Proper direction

(c) Flow of communication (d) All of the above
ZOFmOTBI0 ACN0Z05) V), HTOOWATIZT.

(@) =oZch Tesd () RO3RT ATFeB

(%) RoTZRT TOR) (B) 2D e
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I-10. Importance of CPM towards:

(@) Time (b) Cost

(c) Cost as well as time (d) None of the above
ARR0 TFEDDE WD?

Q) BB (2) F

(R) ooy I TR0 (@) 2O BRFYTH YO

SECTION - I 2 - 11
I Answer any FIVE questions of the following. THREE marks each.
ECAR SR TTTR D Z,IACR ZDu. 3T Foe0) BOBNED
11-1. Define Management. What are the features of Management?
ATFBRODTY TR, ATFBHOD OB e Sn?
I1-2. What do you mean by Decision Making?
SETRFT TRRRE 0TTeD?
11-3. Write a note on M.B.O.
M.B.O. = 202 8535 2500.

[1-4. What is Leadership?
TOCDTZ, D0TTERD?
I1-5. Write a note on Scientific Management.
T INE TFBHD 5002 803 WwTOWD.
[1-6. What is Strategic Planning?
TCUFBOZ T CIRE Q0TTeRD?
I1-7. Write a note on Likert's Scale theory.
< BLTF X LT ATR0BE Eed BB 63 WID.

11-8. Mention the types of Organisation.

ROZHIFCT TBONYE 294,
SECTION - III &x3n - 11

I11. Answer any THREE questions from the following. FIVE marks each.
§enz CIRTTRTICR TR0 ZBACH L0Z0L. 300 DR WoBREL.

I11-1. What are the principles of effective controlling system?

— s Tt e Ty < ‘
BOFRTEl LU0 TEAR0I IZNYY 03RR)R)?
1 9

[11-2. Explain the Environmental Analysis

el E\ g o ot O g g g A I O d G
Aoy toldon wu(’&-f-fv.«uu‘ wumsDA,
2 r

5x3=15

3x5=15
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[11-3. Write a note on Delegation of Authority.
T 2500 2SR BHOB 3503 LB00D.

I11-4. Explain Maslow's Need Hierarchy theory.
TRRRE BT BNg B,ecdodd ATOFIY DFOA.

I1I-5. What is Oral Communication?
[FOLT FOTHBS Q0TIED?
SECTION - IV & -1V
IV. Answer the following question. TEN marks each.
ESAS JZROr e0Z00. 3o T3y WoRRE.

IV-1. Explain the Henry Fayol's Principles of Management.
B, FoO3RCS® BT ATETHOD IZRTTY DFOR.

CR

Explain the functions and scope of Management.
ATEBROD TDORFNRL 0B QDT DTOA.

2x10=20

IV-2. What is Planning? Explain the steps involved in Planning Process.
03Re2 QOTTE? eI 3,000 WIRPORTE BOSRFTY A[OA.

OR

Explain the process of Communication.
ROTBI 38,0008, DFOR.
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